

Highline Public Schools Board Action Report

Supports the Strategic Plan
 DATE: March 15, 2019
 FROM: Dr. Susan Enfield, Superintendent
 LEAD STAFF: Scott Logan, Chief Operations Officer
 Rod Sheffer, Executive Director of Capital Planning and Construction

For Introduction: March 20, 2019 For Action: March 20, 2019

I.TITLE Glacier Middle School – Approval to Award Contract for Purchase of Furniture, Fixtures, and Equipment

II. WHY BOARD ACTION IS NECESSARY Pursuant to Procedure 9240 Construction Phase and Procedure 6225 Approval of Contracts the School Board is required to approve all contracts of \$250,000 or more.

III. BACKGROUND INFORMATION

The purchase and installation of Glacier Middle School's furniture, fixtures, and equipment was not included in the school construction contract. The District can save the added costs of contractor mark-up by purchasing the furniture, fixtures, and equipment through School Specialty.

As a member of National Intergovernmental Purchasing Association (NIPA) and pursuant to the Intergovernmental Cooperation Act, RCW 39.30, Highline School District is authorized to purchase through NIPA contracted vendors; School Specialty is a contracted vendor.

Capital Planning and Construction staff and school staff met with School Specialty representatives to assure the furniture, fixtures, and equipment selected meet the needs of the staff and students.

School Specialty's proposal including installation is \$1,237,714.53, plus Washington State sales tax of \$123,771.46, for a total of \$1,361,485.99.

IV. RECOMMENDED MOTION

I move that the Highline School Board approve the award of contract to School Specialty to provide furniture, fixtures, and equipment for the new Glacier Middle School in the amount of \$1,237,714.53, plus Washington State sales tax of \$123,771.46, for a total of \$1,361,485.99

V. FISCAL IMPACT/REVENUE SOURCE

Fiscal impact to this action will be (amount and source including fund Example - \$522,000 from general fund Title 1 revenue).

The revenue source for this motion is 2016 Capital Improvement Bond fund.

Expenditure: 🛛 One-time 🗌 Annual

VI. APPLICABLE POLICY(S)

This action is in compliance with the following: N/A

Procedure 9240 Construction Phase

Procedure 6225 Approval of Contracts

RCW 39.30 Intergovernmental Cooperation Act

VII. ALTERNATIVES

N/A

VIII. COMMUNITY ENGAGEMENT

Community Engagement Required: Yes X No If yes, list community engagement conducted for this issue

IX. POLICY MONITORING PLAN

This ____ new or ____ revised policy will be monitored by the School Board: _____ Quarterly ____ Semi-Annually ____ Annually ____ Not Applicable

The metrics that will be used to monitor this policy include: N/A

X. ATTACHMENTS

School Specialty Proposal





DATE: 2/26/2019

QUOTATION: PBD2018014736

Good Until: 3/26/2019

QUOTATION SUBMITTED TO:	SHIP TO:
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHOOL
15675 AMBAUM BLVD SW	2450 SOUTH 142ND STREET
BURIEN, WA 98166	SEATAC, WA 98166
ATTN: DIANA GARCIA	

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
1	67	16.0095.47586	FLEETWOOD	\$374.36	\$25,082.12
			BC1 - CLASSROOM BOOKCASE - Low, 1 ADJUSTAE 36"Wx29"Hx12"D	BLE SHELF PLUS Base S	HELF
			CHOOSE LAMINATE: FORMICA NATURAL ASH #88 EDGE: MATCHING -NATURAL ASH	343-58 MATTE	
2	9	A3636TBC	GLOBAL	\$353.28	\$3,179.52
			BC2 -BOOKCASE TO SIT ON LATERAL (F1) LAMINA adjustable shelves, 1 fixed. TO SIT ON 2H LATERAL	TE SHELVES, 36"W X 1	L5"D X 36"H - 2
			FINISH: CLEAR MAPLE LAMINATE (CMB) with MAPLE EDG	βE	
3	3	PN3652BLS	GLOBAL	\$462.72	\$1,388.16
			BC3 - BOOKCASE OFFICE - LAMINATE - 36"W X 12 3 ADJUSTABLE SHELVES & 1 BASE SHELF. FINISH: CLEAR MAPLE (CMB)/MAPLE EDGE	2"D X 52"H	
4	2	PN3052BLS	GLOBAL	\$439.04	\$878.08
			BC3 - BOOKCASE OFFICE - LAMINATE - 30"W X 12 3 ADJUSTABLE SHELVES & 1 BASE SHELF. FINISH: CLEAR MAPLE (CMB)/MAPLE EDGE	2"D X 52"H	
5	6	DFT-4218X-L-MOB	MEDIA TECHNOLOGIES	\$2,035.00	\$12,210.00
			BC4 -LIBRARY CURVED BOOKCASE - DRIFT - MOB 72" X 18"D X 42"H	ILE with Six 75mm Blac	ck CASTERS
			CONVEX WITH SHELVING ON OUTER CURVE - LAN with HANDLES & CONNECTING MAGNETS	VINATE BACK PANEL.	
			LAMINATE: FORMICA NATURAL ASH #8843-58 M PVC EDGE: NATURAL ASH	ATTE	
6	2	4134SL	SAFCO	\$253.60	\$507.20





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE SCHO 2450 SOUTH 142ND STF SEATAC, WA 98166	-
PRICING THROUGH NATIONAL IPA CONTRACT #R	141608	

Γ

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
		BR1 - MAGAZINE/BROCHURE RACK - 9 POCKETS - SILVER	- 31.75"W X 5"D X 41"	Η
		MOUNT BOTTOM OF RACK AT 24"AFF HIGH.		
7 39	2222 F A129 B9 FG7 C16 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$375.83	\$14,657.37
		C1 - TEACHER TASK CHAIR - WIT - MID-BACK WIT FABRIC SEAT - ADJUSTABLE HEIGHT AND WIDTH		
		CHOOSE THINTEX BACK: NICKEL CHOOSE FABRIC SEAT: DESIGNTEX CROSSHATCH	STONE #3559-803	
8 12	2222 F A129 B9 FG7 C17 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$363.72	\$4,364.64
		C1.1 - TEACHER TASK CHAIR -(HARD FLOOR) MID THINTEX BACK - FABRIC SEAT - ADJUSTABLE HEIG FLOOR/CARPET CASTERS		
		CHOOSE THINTEX BACK: NICKEL CHOOSE FABRIC SEAT: DESIGNTEX CROSSHATCH	STONE #3559-803	
94	1061 FT4 AR1 SC27 VG6 CS5 MB MC21 FC2 AC	EXEMPLIS (SIT ON IT)	\$313.74	\$1,254.96
		C10 - MOVI NESTING CONFERENCE CHAIR - MESH	H BACK - CARPET CAST	ERS -
		CHOOSE FRAME: FOG CHOOSE BASE: SILVER CHOOSE MESH BACK: NICKEL CHOOSE SEAT FABRIC: KNOLL PALISADE LUCITE #	ŧK2030/6	
10 46	1011 FT1 A0 US SC8 VG6 C13 FC2 AC	EXEMPLIS (SIT ON IT)	\$239.79	\$11,030.34
		C2 - ADMIN GUEST/CONFERENCE CHAIR - LUMIN FABRIC SEAT WITH PLASTIC BACK	I 4 LEG CHAIR WITH CA	ARPET CASTERS -
		CHOOSE SHELL: SLATE CHOOSE FRAME: SILVER CHOOSE FABRIC: KNOLL PALISADE #K2036/6 LUC	ĴITE	





DATE: 2/26/2019 QUOTATION: PBD2018014736 Good Until: 3/26/2019 QUOTATION SUBMITTED TO: SHIP TO: HIGHLINE SCHOOL DISTRICT 401 GLACIER MIDDLE SCHOOL 15675 AMBAUM BLVD SW 2450 SOUTH 142ND STREET BURIEN, WA 98166 SEATAC, WA 98166 PRICING THROUGH NATIONAL IPA CONTRACT #R141608 Fricing Through National IPA CONTRACT #R141608

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
11 70	1011 FT1 A0 PS SC5 GL1 FC2 AC	EXEMPLIS (SIT ON IT)	\$117.00	\$8,190.00
		C2.1 - SMALL GROUP-TEACHER LOUNGE C CHOOSE SHELL: NAVY CHOOSE FRAME: SILVER	HAIR - LUMIN 4 LEG - ARMLE	SS -
12 22	2723 Y A142 FG7 C16 B17 B1 MC5 FC1 KD	EXEMPLIS (SIT ON IT)	\$391.02	\$8,602.44
		C3 - ADMIN TASK CHAIR -AMPLIFY - HIGH AND WIDTH ARMS - ADJUSTABLE LUMBAF CARPET CASTERS		
		CHOOSE MESH BACK: ONYX CHOOSE FABRIC SEAT: DESIGNTEX CROSSF	IATCH #3559-804 GRAPHITE	
13 1	2223 Y A142 FG7 C17 B1 MC5 FC1 KD	EXEMPLIS (SIT ON IT)	\$407.82	\$407.82
		C3.1 - ADMIN TASK CHAIR - (HARD FLOOR) ADJUSTABLE AND WIDTH ARMS - ADJUSTA FLOOR/CARPET CASTERS		
		CHOOSE MESH BACK: ONYX CHOOSE FABF GRAPHITE	RIC SEAT: DESIGNTEX CROSS F	HATCH #3559-804
14 93	1300SF-HG	ERG INTERNATIONAL	\$269.00	\$25,017.00
		C6 - LIBRARY - MYLO CHAIR 18"H Seat, SEAT/BACK: NATURAL MAPLE FRAME: ARGENTO METALLIC with SINGLE HAND GRIP CUTOUT		
15 89	8210	NATIONAL PUBLIC SEATING	\$70.90	\$6,310.10
		C8 - MUSIC CHAIR - 18" - BLACK SEAT/BLA •	CK FRAME	





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHOO)L
15675 AMBAUM BLVD SW	2450 SOUTH 142ND STRI	EET
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #	R141608	

Г

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

Ъ

# Q	ŢΥ	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
L6 2	2	0937121/054A160	WENGER	\$292.20	\$584.40
			C8 - MUSIC CHAIR - 18" - BLACK SEAT/BLACK FRAM	E - WITH #054A160	TUBA REST
			SEAT: BLACK LEGS: BLACK		
			•		
17 94	46	ASCL18.9B	ARTCO-BELL	\$82.00	\$77,572.00
			C9 - ALPHABET CANTILEVERED CHAIR - 18" -		
			CHOOSE SHELL: ROYAL BLUE #9B CHOOSE FRAME: TITANIUM (4) GLIDES: STEEL		
18 3	8 36 ASC	ASCL18.G.4	ARTCO-BELL	\$82.00	\$2,952.00
			C9.1 - ALPHABET CANTILEVERED CHAIR - 18" -		
			CHOOSE SHELL: GRAPHITE (G) CHOOSE FRAME: TITANIUM (4) GLIDES: STEEL		
19 2	2	3713-16	CLINTON INDUSTRIES	\$1,043.90	\$2,087.80
			COT1 - HEALTH ROOM - RECOVERY COT 72"L X 27" STORAGE DRAWERS & ADJUSTABLE HEADREST - LAMINATE: #1MP MAPLE. VINYL: WEDGEWOOD PULLS: 5C SILVER WIRE	W X 20"H - INCLUDE	S 2 PULL OUT
20 4	4	21090	SMITH SYSTEM	\$452.94	\$1,811.76
			CT1 - CLASSROOM CART - 2 SHELF - 6" DEEP SHELV	ES - 4" CASTERS - 18	"D X 36"W X 36"H
			CHOOSE METAL: PLATINUM		
21 3	3	21001	SMITH SYSTEM	\$447.79	\$1,343.37
			CT2 - BOOK TRUCK - SIX SLOPING SHELVING - 18" X	36" X 43"H	





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHC	DOL
15675 AMBAUM BLVD SW	2450 SOUTH 142ND ST	REET
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #R14	1608	

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
22	46	22.RS63- 47856/MDP301- 47586/28.7006/M DPS6014	FLEETWOOD	\$1,433.59	\$65,945.14
			D1 - TEACHER DESK - 30X60 - ADJUSTAB MODESTY PANEL. WITH CENTER PENCIL WITH MOBILE BOX/BOX/FILE LAMINATE SQUARE CORNERS	DRAWER - WITH 2 GROMMETS	
			CHOOSE LAMINATE: FORMICA NATURA CHOOSE EDGE: NATURAL ASH CHOOSE FRAME: SILVER	L ASH #8843-58	
23	36	24366-78	FLEETWOOD	\$1,379.00	\$49,644.00
			D1.1 - TEACHER PODIUM/TABLE - PNEU 24"W	MATIC HEIGHT ADJUSTABLE 29	-42" SIDE 30"D X
			CHOOSE LAMINATE: FORMICA NATURA CHOOSE EDGE: NATURAL ASH CHOOSE FRAME: SILVER	L ASH #8843-58	
24	7	MS.RS43- 47586/MP301- 47856/MDP4814	FLEETWOOD	\$1,564.00	\$10,948.00
			D2 - SCIENCE TEACHER DESK - 30X48 AD STEEL MODESTY PANEL. 2 GROMMETS I MOBILE BOX/BOX/FILE LAMINATE PEDE	N WORKSURFACE. BLACK PHE	
			TOP: BLACK PHENOLIC RESIN CHOOSE LAMINATE: NATURAL ASH #884 CHOOSE EDGE: NATURAL ASH CHOOSE FRAME: GRAPHITE	13-58	
25	7	MSL11-47856	FLEETWOOD	\$1,455.00	\$10,185.00
			D2.1 - SCIENCE TEACHER SIDE CABINET PHENOLIC RESIN TOP.	THAT IS 30X48X36"H LOCKING	DOORS - BLACK
			TOP: BLACK PHENOLIC RESIN CHOOSE LAMINATE: NATURAL ASH #884 CHOOSE EDGE: NATURAL ASH CHOOSE FRAME: GRAPHITE	13-58	





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE S 2450 SOUTH 142N SEATAC, WA 98166	D STREET
PRICING THROUGH NATIONAL IPA CONTRAC	Г #R141608	

Г

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

Ъ

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
26	2	WG319163	GLOBAL INDUSTRIAL	\$1,716.54	\$3,433.08
			D3 - WORKBENCH DESK - CUSTODIAN - BLOCK TOP - INCLUDES 15"D LOWER SH BIN RAIL, PEGBOARD PANEL MOUNTIN ARM MOUNT	HELF, 6"H DRAWER, 12"H DRAW	/ER,48"H UPRIGHTS,
			FRAME: BLUE		
27 352	22.RS622- 475860/BH1000G (2)	FLEETWOOD	\$362.25	\$127,512.00	
			D4 - STUDENT TABLE - 24x60x29 Rectar Corners and 3mm Edge Band Fixed Heig LEVELERS (WHEELBARROW- WITH TWO	ght, WITH TWO Locking 75mm (Casters AND 2
			CHOOSE LAMINATE: ARBORITE #P-3870 CHOOSE EDGE: FW GRAY CHOOSE FRAME: GRAPHITE	CA NUNO GLACE	
28	60	22.RS62- 47856/BH1000G (2)	FLEETWOOD	\$409.45	\$24,567.00
			D4.1 - STUDENT TABLE ADJ - Rectangle Corners and 3mm Edge Band Adjustabl Casters and Levelers). WITH TWO BACK	e Height 24-32", Wheelbarrow	(Locking 75mm
			CHOOSE LAMINATE: ARBORITE #P-3870 CHOOSE EDGE: FW GRAY CHOOSE FRAME: GRAPHITE	CA NUNO GLACE	
29	58	24-687-057	ERGOTRON	\$365.75	\$21,213.50
			D5 - STUDENT DESK - SIT-TO-STAND. 24	1"W X 20"D X 29"-45"adjustable	height.
			CHOOSE COLOR: TOP: ARBORITE #P-387CA NUNO GLACE EDGE: GREY FRAME: GREY	E	
30	89	2003505	SCHOOL SPECIALTY	\$7.79	\$693.31
			RECTANGLE RECYCLING WASTE BASKET	Γ, 28 QT, 15 x 10.5 x 15 PLASTIC,	BLUE





DATE: 2/26/2019QUOTATION: PBD2018014736Good Until: 3/26/2019QUOTATION SUBMITTED TO:SHIP TO:HIGHLINE SCHOOL DISTRICT 401GLACIER MIDDLE SCHOOL15675 AMBAUM BLVD SW2450 SOUTH 142ND STREETBURIEN, WA 98166SEATAC, WA 98166

PRICING THROUGH NATIONAL IPA CONTRACT #R141608

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
31	89	2003500	SCHOOL SPECIALTY TRASH WASTEBASKET 28 QT BLACK - 15 x 10.5 x 15	\$7.79	\$693.31
22	2			ć1 767 05	62 F2F 70
32	2	DR-36-50	AWT WORLD TRADE INC DR1 - DRYING RACK - 38.5"W X 32"D X 63"H - ALL STEI	\$1,767.85	\$3,535.70
33	43	72453.004.XX110		\$1,555.00	\$66,865.00
			F1 - TWO DRAWER LATERAL FILE - 30"W X 30"H X 26" ALIKE	D - WITH LOCKING	G DRAWERS - KEYED
			CHOOSE LAMINATE:FORMICA NATURAL ASH #8843-58 EDGE: NATURAL ASH PULLS: SILVER	8	
34	11	PN25MBBF	GLOBAL	\$564.48	\$6,209.28
			F2 - MOBILE BOX/BOX/FILE LAMINATE PEDESTAL. 16" KEYED ALIKE - HIGH PRESSURE LAMINATE	W X 25.5"H X 22"	D -LOCKING DRAWERS
			CHOOSE LAMINATE: CLEAR MAPLE (CMB) SILVER DRAWER PULLS		
35	5	9342-4F1H	GLOBAL	\$773.76	\$3,868.80
			F3 - FOUR DRAWER LATERAL FILE - 42"W X 18"D X 54" KEYED ALIKE	Ή	
			CHOOSE METAL:CHARCOAL CGR		
36	11	A2036LF.S1	GLOBAL	\$686.08	\$7,546.88
			F4 - LATERAL FILE - 2 DRAWER - LAMINATE 36" WIDE 3 TOP) - HPL - KEYED ALIKE	X 20"D X 29"H (TC	HAVE BOOKCASE ON
			CHOOSE COLORS: CLEAR MAPLE CMB/MAPLE EDGE/S	ILVER PULL	
37	2	9330-4F1H	GLOBAL	\$615.68	\$1,231.36
			F7 - LATERAL FILE - FOUR DRAWER - 30"W X 18"D X 54 LOCKING DRAWERS - KEYED ALIKE	4"H	
			CHOOSE METAL:		
			CHARCOAL #CGR		



DATE: 2/26/2019



Good Until: 3/26/2019

QUOTATION: PBD2018014736

QUOTATION SUBMITTED TO:SHIP TO:HIGHLINE SCHOOL DISTRICT 401GLACIER MIDDLE SCHOOL15675 AMBAUM BLVD SW2450 SOUTH 142ND STREETBURIEN, WA 98166SEATAC, WA 98166PRICING THROUGH NATIONAL IPA CONTRACT #R141608

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
38	12	25-400	GLOBAL	\$235.52	\$2,826.24
			F6 - VERTICAL FILE - FOUR DRAWER - LE KEYED ALIKE WITH OTHER 4 DRAWER VI CHOOSE METAL: CHARCOAL GREY (CGR	ERTICALS	LOCKING
39	2	8720-A-055	CLINTON INDUSTRIES	\$534.82	\$1,069.64
			F7 - NURSE SIDE TABLE - MOBILE - 18"L SHELF - LOCKING TOP: GRAY CHOOSE LAMINATE: NATURAL MAPLE/N		DOOR - 1 ADJUSTABLE
40	420	802	NATIONAL PUBLIC SEATING	\$25.43	\$10,680.60
			FC1 - NPS [®] 800 Series Premium Lightwe	ight Plastic Folding Chair,	
			CHOOSE metal & plastic color: GREY PLA •,	ASTIC/GREY FRAME	
41	5	84	NATIONAL PUBLIC SEATING	\$346.78	\$1,733.90
			FCC1 - Double-Tier Hanging Chair Truck 84 chair capacity •	- 67" x 33.25" x 70"	
42	46	016788/016794	SCHOOL SPECIALTY INC	\$8.46	\$389.16
			FLAG W/STAFF US 16 X 24 AND WALL A	TTACHED FLAG BRACKET	
43	1	031400/592010/1 45790	SCHOOL SPECIALTY INC	\$429.00	\$429.00
			SET INCLUDES: FLAG US INDOOR 3 X 5 SET W/POLE-STA FLAG WASHINGTON STATE INDOOR 3X5 ORNAMENT (SPEAR)		
44	3	7099-000	KETTLER	\$999.00	\$2,997.00
			GT1 - GAME TABLE - FOOSBALL - CARBO 59 x 31 x 12 inches High speed glass playing field with anti- Leg levelers on each leg Cover and three balls included	rust chromium plating straight t	hrough poles
			Absolutely weatherproof indoor/outdoo		





DATE: 2/26/2019	QUOTATION: PBD201801	14736 Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER M	AIDDLE SCHOOL
15675 AMBAUM BLVD SW	2450 SOUT	TH 142ND STREET
BURIEN, WA 98166	SEATAC, W	VA 98166
PRICING THROUGH NATIONAL IPA CONTRAC	Γ#R141608	

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			HK1 - Genuine Joe Industry Light Gr 55-5/8 in x 38 in features oversized healthcare, airports, convention cer designed to accommodate and orga todays facilities managers. It comes	wheels and casters for heavy-duty nters, office buildings and more. Th anize tools that can also accomplish	applications in s zippered vinyl bag is the requirements of
46	1	INSTALLATION	SCHOOL SPECIALTY INC	\$111,655.00	\$111,655.00
			INSTALLATION - INCLUDES RECEIVIT REMOVAL OF ALL DEBRIS - INSTALL		
47	18	41007BX-MB	TENJAM	\$224.00	\$4,032.00
			L1 - TWISTED HEX STOOL - 18"SEAT	HEIGHT - 21.85"W X 19.25"L X 18"I	H - HARD PLASTIC
			MEDIUM BLUE #MB BASE WITH DA	RK GRAY CUSHION TOP	
48	18	41007BX-OR	TENJAM	\$224.00	\$4,032.00
			L1.1 - TWISTED HEX STOOL - 18"SEA	AT HEIGHT - 21.85"W X 19.25"L X 18	"H - HARD PLASTIC
			ORANGE#OR BASE WITH DARK GRA	Y CUSHION TOP	
49	12	15501B2.AG	TENJAM	\$1,050.90	\$12,610.80
			L2 - STUDENT LOUNGE - SMOOTHIE 17.5"H SEAT HEIGHT COLOR: ANTHRACITE #AG	DURAFLEX LOUNGE CHAIR - 23"W	X 30"D X 34"H -
50	7	VRG SW21 FM1 STM AT1 ACP0 VG7 P1	IDEON	\$826.03	\$5,782.21
			L3 - LOUNGE CHAIR - ADMIN/COUN CHOOSE WOOD STAIN: STAIN TO M CHOOSE FABRIC SEAT & BACK: MOI	IATCH ERG NATURAL MAPLE	OTH - MAPLE WOOD
51	6	FTC-60-G6-5W	MEDIA TECHNOLOGIES	\$1,242.60	\$7,455.60
			L4 - FULL TIME Curved Bench 60 DE MAPLE	GREE, 24"DEEP x 18"SEAT HEIGHT,	5 Wooden Post Feet:
			CHOOSE FEET COLOR: NATURAL MA CHOOSE FABRIC: MAHARAM STATU		т
52	8	VS LS12 LS12 STM UMU P1	IDEON	\$915.91	\$7,327.28





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHOOL	
15675 AMBAUM BLVD SW	2450 SOUTH 142ND STREE	T
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #	R141608	

Г

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

Ъ

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
		L5 - LOUNGE CHAIR - ARMLESS COUNSELING -		
		CHOOSE FABRIC SEAT: DESIGNTEX LUSTER #3701-8 CHOOSE FABRIC BACK: MOM SILICA KIP THALO FEET: CUSTOM STAIN TO MATCH ERG NATURAL M		
53 2	FTDJ-24-G7	MEDIA TECHNOLOGIES	\$806.00	\$1,612.00
		L6 - ROUND OTTOMAN - 24"DIAMETER X 16"HIGH	WITH SELF LEVELING	GLIDES
		FABRIC: CARNEGIE MOTO #6084 (YELLOW)		
		•		
54 1	SLBCR2-241648-	•	\$2,889.60	\$2,889.60
	LL-H/WS-C-16120- L	MEDIA TECHNOLOGIES		
		LK1 - LOCKERS - 10 OPENINGS - 12"W X 16"D X 48" FEET - INCLUDES CONTINUOUS TOP. LAMINATE: FORMICA NATURAL ASH #8843-58 EDGE: NATURAL ASH PULLS & HINGES: SILVER	'H (EACH LOCKER) - O	VERALL LENGTH IS 10
55 3	DY82	NATIONAL PUBLIC SEATING	\$202.80	\$608.40
		MCD1 - CHAIR DOLLY FOR NPS 8210 MELODY CHAI 41H X 45L X 24D - BLACK TWO SWIVEL & TWO NON-SWIVEL CASTERS.	IRS HOLDS 18	
56 2	566200.000.XX00	FLEETWOOD	\$1,496.30	\$2,992.60
		MPD1 - CONDUCTOR PODIUM - DOUBLE - 2 TIERS 48"H X 38"D	WITH SAFETY BAR - G	REY CAPRET - 43"W X
		LAMINATE: FORMICA NATURAL ASH EDGE: NATURAL ASH		





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHO	OCL
15675 AMBAUM BLVD SW	2450 SOUTH 142ND ST	REET
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #R1	.41608	

Γ

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE	
57	4	TP72/GRTPR3/SG RTP3(2)	NATIONAL PUBLIC SEATING	\$1,408.00	\$5,632.00	
			MR1 - MUSIC RISER - 3 STEP WITH BACK RA 72"W X 54"D X 24"/16"/8"HIGH	NILS - STRAIGHT - ADD TWO S	SIDE RAILS.	
			CHOOSE CARPET: GRAY CHOOSE METAL: BLACK			
58	4	DYMS20	NATIONAL PUBLIC SEATING	\$368.45	\$1,473.80	
			MSD1 - MUSIC STAND DOLLY - HOLDS 20 S MOBILE BLACK •,	TANDS		
59	224	AS4ST24	ARTCO-BELL	\$155.00	\$34,720.00	
			S1 - STUDENT STOOL - SCIENCE ALPHABET STEEL GLIDE CAPS CHOOSE SHELL: ROYAL BLUE CHOOSE FRAME: TITANIUM	- 24" SEAT HEIGHT - 4 LEG		
60	128	AS4ST24	ARTCO-BELL	\$155.00	\$19,840.00	
			S1 - STUDENT STOOL ART/TECH- ALPHABET STEEL GLIDE CAPS CHOOSE SHELL: GRAPHITE CHOOSE FRAME: TITANIUM	- 24" SEAT HEIGHT - 4 LEG		
61	1	2102	CLINTON INDUSTRIES	\$140.00	\$140.00	
			S10 - STOOL - NURSE - 14" SEAT DIAMETER BASE, MOBILE, VINYL COLOR: WEDGEWOOD	- 18.5"-25.5" SCREW HT AD	JUSTMENT CHROME	
62	4	1011 FT1 AO PS SC5 GL1 S2 FC2 AC	EXEMPLIS (SIT ON IT)	\$184.80	\$739.20	
			S2 - LUMIN COUNTER/BAR STOOL - PLASTIC HEIGHT 24" - STANDARD MULTI-SURFACE (CHOOSE SHELL COLOR: NAVY FRAME: SILVER		ME - ARMLESS - BAR	
63	67	1546366	CLASSROOM SELECT	\$72.00	\$4,824.00	
			S3 - STOOL - CS NEOROK - STOOL HEIGHT 1 PAPRIKA	8" - RUBBER BASE - SPECIFY	FRAME / SEAT COLOR:	
64	1	DADBXL436003	SP RICHARDS	\$75.89	\$75.89	





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE SCHC 2450 SOUTH 142ND ST SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #F	2141608	
PROJECT SPECIALIST: WENDY KENNARD 253-380-2419	wendy.kennard@sch	noolspecialty.com
# QTY PRODUCT DESCRIPT	ION UNIT I	PRICE EXTENDED PRICE

π	Q	TRODUCT			
			S4 - STEP STOOL STEEL GRAY 21X2.5X50 T features a foldable design for easy storage surface area to ensure stable feet placeme friction on smooth surfaces to prevent the provides a handy way to keep you balance for effortless transportation from location	e between uses. Large top step pr ent. Slip-resistant feet increase th e ladder from sliding during use. S ed as you work. Lightweight desig	rovides a wide ne amount of Safety handrail
65	21	SLS-31L	ERG INTERNATIONAL	\$448.00	\$9,408.00
			S6 - STOOL - 30" SEAT HEIGHT WITH HAND GRIP CUTOUT CHOOSE WOOD SHELL: NATURAL MAPLE/ CHOOSE FRAME: ARGENTO METALLIC	TRANSPARENT STAIN.	
66	8	2222 B A129 B9 FG7 C17 S1 B0 MC21 TX1 Z1 KD	EXEMPLIS (SIT ON IT)	\$418.60	\$3,348.80
			S7 - TEACHER TASK STOOL - WIT. MID-BAC FABRIC SEAT, CARPET/HARD FLOOR/CAST MULTI-FUNCTION ARMS		
			THINEX BACK: NICKEL FABRIC SEAT: DESIGNTEX CROSSHATCH #3	3559-803 COLOR STONE	
67	2	157F091	WENGER	\$1,040.37	\$2,080.74
			S8 - CONDUCTOR'S CHAIR - SWIVELS, PNE COLOR: BLACK	UMATIC HEIGHT ADJUSTMENT.	
68	24	AS4ST30	ARTCO-BELL	\$158.00	\$3,792.00
			S9 - STUDENT STOOL - 30"H SEAT - CHROME FRAME - STEEL GLIDE CAPS CHOOSE SHELL COLOR: GRAPHITE CHOOSE FRAME: TITANIUM		
69	25	236773GY	GLOBAL INDUSTRIAL	\$189.00	\$4,725.00
			SH1 BOOKCASE/SHELVING - EXTRA HEA 1500LB CAPACITY - GRAY METAL WITH W		6 SHELVES,
70	47	236770GY	GLOBAL INDUSTRIAL	\$199.00	\$9,353.00
			SH2 - BOOKCASE/SHELVING- EXTRA HEAV PER SHELF -GREY METAL WITH WHITE LAN		500LB CAPACITY





QUOTATION: PBD2018014736

DATE: 2/26/2019Good Until: 3/26/2019QUOTATION SUBMITTED TO:SHIP TO:HIGHLINE SCHOOL DISTRICT 401GLACIER MIDDLE SCHOOL15675 AMBAUM BLVD SW2450 SOUTH 142ND STREETBURIEN, WA 98166SEATAC, WA 98166PRICING THROUGH NATIONAL IPA CONTRACT #R141608

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

# QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
71 35	236774GY	GLOBAL INDUSTRIAL	\$199.00	\$6,965.00
		SH3 - BOOKCASE/SHELVING - EXTRA HEAVY DU CAPACITY PER SHELF - GREY METAL WITH WHI		- 6 SHELVES - 1500LB
72 3	76041.613.??1C1	FLEETWOOD	\$614.50	\$1,843.50
		SH4 -, Wall Hung Cabinet, 1 Adjustable Shelf, N European Hinge. 36"Wx24"Hx13"D	ION-Locking Doors, Chro	me Pull, Chrome
		LAMINATE: FORMICA NATURAL ASH #8843-58 EDGE: NATUAL ASH CHROME PULL/CHROME HINGE		
73 74	679326	NATIONAL PUBLIC SEATING	\$45.65	\$3,378.10
		ST1 - MUSIC STAND 12.75WX20LX24-46H BLACK		
74 2	238D001	WENGER	\$236.11	\$472.22
		ST2 - CONDUCTOR'S MUSIC STAND - PREFACE -	- DOUBLE - ADJUSTABLE	- BLACK
75 10	MBT12DR	AMTAB MFG CORP	\$1,697.00	\$16,970.00
		T1 - CAFETERIA TABLE BENCHES AMTAB 12 FO	OT LONG 29H MDF CORE	
		SPECIFY TOP COLOR: ARBORITE #P-257CA TATA SPECIFY BENCH COLOR: ARBORITE #P-3000GL (SPECIFY DYNAROCK EDGE: GRAY SPECIFY FRAME: METALLIC TITANIUM		DN
76 3	DM42D-GRP6	ERG INTERNATIONAL	\$1,158.59	\$3,475.77
		T10 - DOME ROUND TABLE 42" DIAMETER X 29 HPL TOP/KNIFE WOOD EDGE - with Round Disc	-	
		SPECIFY LAMINATE TOP: PIONITE CRADLE OF LI SPECIFY EDGE: NATURAL MAPLE KNIFE #6-C SPECIFY FRAME: ARGENTO METALLIC	IBERTY #AB221	





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE SCHOOL 2450 SOUTH 142ND STRE SEATAC, WA 98166	-
PRICING THROUGH NATIONAL IPA CONTRACT #R	141608	

Γ

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
77	3	22.RD44-47586	FLEETWOOD	\$548.50	\$1,645.50
			T11 - Round Group Table, 42" DIAMETER -Steel SQ Band, ADJUSTABLE HEIGHT WITH 4 LOCKING CAST		
			LAMINATE: ARBORITE NUNO GLACE P-387 CA EDGE: FW GRAY FRAME: GRAPHITE		
78	1	BR.KD78-47586	FLEETWOOD	\$729.00	\$729.00
			T14 - Kidney Group Table, Steel SQUARE Legs (4), 2 Edge Band, ADJUSTABLE Height, Levelers. 72"Wx2		
			LAMINATE: ARBORITE NUNO GLACE P-387 CA EDGE: FW GRAY FRAME: GRAPHITE		
79	42	MB2660TM-29- TRAP	MEDIA TECHNOLOGIES	\$1,034.04	\$43,429.68
			T15 - TRAPEZOID LIBRARY TABLE - 26"W X 60"L X 2 EDGE/WOOD TAPERED LEGS WORSURFACE TOP IS 60"X30"X30"	29"H - HPL TOP/KNIFI	E MAPLE WOOD
			TOP: ARBORVITE: P-399-CA CHAMBRAY GRIS EDGE: KNIFE, NATURAL MAPLE LEGS: NATURAL MAPLE NM		
			•		
80	3	MZM TT8 STM	IDEON	\$675.00	\$2,025.00
		TZ21 TH18 TE1 LSL2 P7			
			T16 - END TABLE - 21"X21"X 18"HSQUARE EDGE	- SQUARE TAPERED	WOOD LEGS
			CHOOSE WOOD STAIN: STAIN-TO-MATCH ERG NA	TURAL MAPLE	
81	2	LKD48120K	GLOBAL	\$3,226.20	\$6,452.40





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE SCHC 2450 SOUTH 142ND ST SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT	#R141608	

Γ

PROJECT SPECIALIST:

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			T18 - CONFERENCE TABLE - RECTANGLE SHAPED - 48 METAL LEGS - KADIN SERIES	8"W X 120"W	
			CHOOSE VENEER:NATURAL MAPLE #MPW CHOOSE EDGE: NATURAL MAPLE WITH KV SHAPE (K CHOOSE LEGS & BEAM: CHARCOAL (CHR)	NIFE EDGE)	
82	1	PN964229	GLOBAL	\$1,220.16	\$1,220.16
			T19 - BREAK ROOM TABLE - 42" W X 96"L X29"H CHOOSE HP LAMINATE: CLEAR MAPLE #CMB CHOOSE EDGE: CLEAR MAPLE CHOOSE FRAME: CHARCOAL GREY #CGR		
83	30	ACB6DR.	AMTAB MFG CORP	\$889.00	\$26,670.00
			T2 - CONVERTIBLE BENCH UNIT 6FT DYNA ROCK EDG DEVICE - PLYWOOD CORE	GE PAINTED FRAME	WITH COUPLING
			SPECIFY TOP COLOR: ARBORITE #P-257CA TATAMI K SPECIFY BENCH COLOR: ARBORITE #P-3000GL CELES SPECIFY DYNAROCK EDGE: GRAY SPECIFY FRAME: METALLIC TITANIUM		ON
84	24	22.RS30-47856	FLEETWOOD	\$299.30	\$7,183.20
			T3 - SINGLE STUDENT TABLE - 24" X 30" X 24-32" AD SQUARE LEGS. 2 LOCKING CASTERS & 2 GLIDES. ON		
			CHOOSE LAMINATE: ARBORITE NUNO GLACE #P-387 CHOOSE EDGE: FW GRAY CHOOSE FRAME: GRAPHITE	7 CA	
85	1	MZM TT5 STM TZ48 TH18 TE1	IDEON	\$990.00	\$990.00
		LSL2 P7	T4 - COFFEE TABLE - 20"D X 48"L X 18"HIGH - TAPER WOOD EDGE CHOOSE: STAIN-TO-MATCH ERG NATI	-) LEG - SQUARE





DATE: 2/26/2019	QUOTATION: PBD201802	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166		MIDDLE SCHOOL JTH 142ND STREET WA 98166
PRICING THROUGH NATIONAL IPA CONTRACT	#R141608	

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			T5 - FLIP Table, Steel Square I-Leg, Flip and Nest, 1" Top Band, Fixed Height, Locking 75mm Casters. 60"Wx29"Hx30"D	with SQUARE C	Corners and 3mm Edge
			CHOOSE LAMINATE: ARBORITE MARIGOLD TWILL #P384 CHOOSE EDGE: FW GRAPHITE CHOOSE FRAME: GRAPHITE	4	
87	5	FN.RS42-47856	FLEETWOOD	\$585.00	\$2,925.00
			 T5.1 - FLIP Table, Steel Square I-Leg, Flip and Nest, 1" To Edge Band, Fixed Height, Locking 75mm Casters. 48"Wx29"Hx24"D CHOOSE LAMINATE: ARBORITE NUNO GLACE #P-387CA CHOOSE EDGE: FW GRAY CHOOSE FRAME: GRAPHITE 		Corners and 3mm
88	8	FN.RS62-47856	FLEETWOOD	\$659.00	\$5,272.00
			T5.2 - FLIP Table, Steel Square I-Leg, Flip and Nest, 1" To Edge Band, Fixed Height, Locking 75mm Casters. 60"Wx29"Hx24"D CHOOSE LAMINATE: PIONITE SABLE #AG021-SD TEXTUR CHOOSE EDGE: GRAPHITE CHOOSE FRAME: SILVER		Corners and 3mm
89	2	FN.RS26-47856	FLEETWOOD	\$650.00	\$1,300.00
			T5.3 - FLIP Table, Steel Square I-Leg, Flip and Nest, 1" To Edge Band, Fixed Height, Locking 75mm Casters. 60"Wx29"Hx20"D CHOOSE LAMINATE: ARBORITE NUNO GLACE P-387 CA CHOOSE EDGE: FW GRAY CHOOSE FRAME: GRAPHITE	op with SQUARE	Corners and 3mm
90	11	SWP501/GRBTP36 /GRB22	GLOBAL	\$625.28	\$6,878.08
			T6 - SWAP TABLE 36X36 ROUND HPL TOP WITH ROUND	DISC BASE.	
			SPECIFY LAMINATE TOP: CLEAR MAPLE #CMB SPECIFY EDGE: CLEAR MAPLE SPECIFY BASE FINISH: CHARCOAL GREY #CGR		





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until : 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCH	IOOL
15675 AMBAUM BLVD SW	2450 SOUTH 142ND S	STREET
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #R1	41608	

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE	
91	3	SWP527/GRBTP30 /GRB22	GLOBAL	\$572.16	\$1,716.48	
			T6.1 - SWAP TABLE 30" DIAMETER X 29"HIGH HPL TOP	WITH ROUND DISC BASE.		
			SPECIFY LAMINATE TOP: CLEAR MAPLE #CMB SPECIFY EDGE: CLEAR MAPLE SPECIFY BASE FINISH: CHARCOAL GREY #CGR			
92	1	SWP562/GRBTP48 /GRB28		\$1,020.16	\$1,020.16	
			T6.2 - SWAP TABLE 48" ROUND X 29"H - HPL 1	top with ROUND DISC BAS	E	
			SPECIFY LAMINATE TOP: CLEAR MAPLE #CMB SPECIFY EDGE: CLEAR MAPLE SPECIFY BASE FINISH: CHARCOAL GREY #CGR			
93	7	DMH30D-GRP6	ERG INTERNATIONAL	\$1,022.79	\$7,159.53	
			T7 - CAFE TABLE 30" ROUND X 42" HIGH WITH DISC BASE SPECIFY LAMINATE TOP: ARBORITE CHAMBRA SPECIFY EDGE: KNIFE NATURAL MAPLE SPECIFY FRAME: ARGENTO METALLIC		EDGE(6-C) ROUND	
94	112	MS.RS6304BFR.	FLEETWOOD	\$769.00	\$86,128.00	
			T8 - Rectangle Science/STEM Table, Square Tu with Adjustable Height, H-Frame, Locking 75n LEGS	0 1 1/		
			CHOOSE FRAME: GRAPHITE			
95	52	MS.RS66-478560	FLEETWOOD	\$676.00	\$35,152.00	
			T9 - ART/TECH CLASSROOM TABLE - 36" X 60' LOCKING CASTERS. LAMINATE TOP. SQUARE I 2 PER CLASSROOM TO BE SET AT 34"HIGH. THE REMAINDER TO BE SET AT 36"HIGH.		GHT. WITH FOUR (4)	
			CHOOSE LAMINATE: ARBORITE #P-384CA MA CHOOSE EDGE: GRAPHITE CHOOSE FRAME: GRAPHITE	RIGOLD TWILL		





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401	GLACIER MIDDLE SCHOOL	-
15675 AMBAUM BLVD SW	2450 SOUTH 142ND STRE	ET
BURIEN, WA 98166	SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT #R14	1608	

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
			WD1 - WARDROBE STORAGE - 24"W BOX/BOX/FILE. LOCKING. keyed alik LAMINATE: CLEAR MAPLE #CMB SILVER PULL		STORAGE CABINET,
97	1	4202	SAFCO	\$480.73	\$480.73
			WH1 - Nail Head Coat Hook-6 Hook, 6 per carton	Silver - 36"w x 2.75"d x 2"h	
			NOTE: INSTALL 4 INTO ROOM #1421	. TWO EXTRA - LOCATION TBD BY	DISTRICT
98	9	FREEFIT 30X70	GLOBAL	\$1,804.80	\$16,243.20
			WS1 - SIT-TO-STAND TABLE 30"D X 7 MAPLE) AND CENTER GROMMET, 3 5 BASE FFHATE30 -AND TOP -FREEFIT" LAMINATE: CLEAR MAPLE #CMB EDGE: MAPLE FRAME: CHARCOAL GREY #CGR	STAGE COLUMN, HEIGHT ADJUSTA	BLE PROGRAMMABLE





DATE: 2/26/2019	QUOTATION: P	BD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:		SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166		GLACIER MIDDLE SCH 2450 SOUTH 142ND S SEATAC, WA 98166	
PRICING THROUGH NATIONAL IPA CONTRACT	#R141608		

WENDY KENNARD 253-380-2419

wendy.kennard@schoolspecialty.com

# QT	Y PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
99 3	FREEFIT 30X58	GLOBAL	\$1,663.80	\$4,991.40
		WS1.1 - SIT-TO-STAND TABLE 30"D X 60"L WITH MOD CENTER GROMMET, 3 STAGE COLUMN, HEIGHT ADJU PROGRAMMABLE BASE FFHATE30 -AND TOP -FREEFIT (PHAT2958T)-	JSTABLE (22.57-48	8.75")
		LAMINATE: CLEAR MAPLE #CMB EDGE: MAPLE		
100 3	PN2454DM	GLOBAL	\$652.80	\$1,958.40
		WS1.2 - OFFICE RETURN - 24"D X 54"W X 29"H - META CHOOSE LAMINATE: NATURAL MAPLE CHOOSE EDGE: MAPLE CHOOSE METAL: CHARCOAL GREY #CGR	AL LEGS - CENTER	GROMMET -
101 1	PN3072DM	GLOBAL	\$776.00	\$776.00
		WS1.3 - OFFICE DESK - 30"D X 72"W X 29"H - METAL CENTER GROMMET - CHOOSE LAMINATE:CLEAR MAPLE #CMB EDGE: CLEAR MAPLE CHOOSE METAL: CHARCOAL GREY #CGR	LEGS -	
102 4	BRTWS2436/BRTS LL24L	GLOBAL	\$649.00	\$2,596.00
	(2)/BRTSB24C	WS1.4 - OFFICE RETURN - 24"D X 36"W X 29"H - with METAL LOOP LEGS - HPL. ADD CENTER GROMMET CHOOSE LAMINATE: CLEAR MAPLE #CMB CHOOSE EDGE: CLEAR MAPLE CHOOSE METAL: CHARCOAL GREY #CGR		





DATE: 2/26/2019	QUOTATION: PBD2018014736	Good Until: 3/26/2019
QUOTATION SUBMITTED TO:	SHIP TO:	
HIGHLINE SCHOOL DISTRICT 401 15675 AMBAUM BLVD SW BURIEN, WA 98166	GLACIER MIDDLE SCHO 2450 SOUTH 142ND ST SEATAC, WA 98166	

WENDY KENNARD 253-380-2419

#	QTY	PRODUCT	DESCRIPTION	UNIT PRICE	EXTENDED PRICE
PRICI	NG IS TH	ROUGH NATI	ONAL IPA CONTRACT #R14	1608.	
PRICI	NG DOES	S NOT INCLUE	DE WASHINGTON STATE SA	ALESTAX.	
INSTA INSTA	ALLATION	I INCLUDES R		INSTALLATION. CEMENT IN CORRECT LOCATIONS & REM ATOR IS NOT AVAILABLE, ADDITIONAL ST	
			TE TO YOUR PURCHASE OR G. EMAIL: wendy.kennard	DER & SEND DIRECTLY TO WENDY KENN	ARD WITH SCHOOL
ACC	EPTED B	Υ			
DAT	TE ACCEF	PTED		TOTAL	\$1,237,714.53